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Calculus 2.
First Exam

Date: Sunday 18 /11 /1432 H.
Time: from 20:15 to 21:45.
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QL.

coth(0) =
A (B) (C) (D) (E)

e 0 undefined s 1
Q2.

coth’x —1 =
A (B) ©) (B)

1 csch?x — csch?x 0
Q3.

If y=—sech™*v1—x2 where 0 <x <1, then Z—Z =y' =
A) (B) ©) (B)

1—x2 1—x2 1-x? x?-1

Q4.

If F isan antiderivative of f on an interval I, then G(x) = F(x) + In5 is
also an antiderivative of f.

A) TRUE (B) FALSE
Q5.
lim,_. sinhx =
y
3 .
2r Jy= sinh x
17
T N e VI > .
3-2-17F 12 3
/_2 i
=3
(A) (B) (€) (D) (E)
0 —00 00 T —T
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Q6.
lim,_,. sinhx =
(A) (B) (C) (D) (B)
0 —00 00 T —T
Q7.
If £'(x) = 2¢* +—5 and £(0) =5, then f(x) =
(A) (B) (€) (D)
2e*+13cot™*x+3 |[2e*+13cot™tx—3 | 2¢e*+13tan"'x+3 | 2e*+13tan"1x —3
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Q8.

The sigma notation of 23 +33+43+ .. +n3 is

(A) (B) (®) (D)
ook +2)? noilk +2)3 Yrzs(k +2)3 Y 2(k + 2)3
Q0.
211<1:1(k - 2) =
(A) (B) (®) (D) (E)
43 44 45 54 55
Q10.

An upper estimate of the area under the curve of f(x) = x? —4x + 4 and
the x-axis from x =2 to x =5 using three rectangles is

(A) (B) (©) (D)
11 5 3 14
Q1L
The integral expression of lim,_q, Yy (4x7 + x; cosx;)Ax over the interval
[0, ] is
(A) (B) (©) (D)

f:(4x5 + x sinx) dx

foﬂ(x5 + x sin x) dx

fon(x5 + x cos x) dx

fon(4x5 + x cosx) dx

Q12.

If [°f(x)dx =5, then [} f(t)dt =

(A)
5

(B)
15

(€)
-5

(D)
—15




Q13.

If [7f()dx =7 and [ f(x)dx =4, then [’ 2f(x)dx =

(A) (B) ©) (D) (E)
—6 6 3 -3 4
s 2 o Jpaalladle cuad o g 513 8, JIgadl IS5 58 14 a8 J) gl
014,
If fosf(x)dx =7 and fzsf(x)dx = 4, then foz 2f (x)dx =
(A) (B) ©) (D) (E)
—6 6 3 -3 4
Q15.
If g(y) = fzy t?sintdt, then g'(y) =
A ® © ©
3’2& y“siny y?+siny y?+cosy
Q16.
4x-1
fl de =
(A) (B) ©) (D) (E)
17 14 11 10 8
B B 3 3 3
o17.
s_NE g
fg x+ tanx o
(A) (B) (©) (D) (E)
0 3Vn m—1 T+ 1 2+m
2
Q18.
1} 19% dx =
(A) (B) ©) (D) (E)
1o 1+1In5 In 4 In3 In 2
2
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010,
1} 19% dx =
(A) (B) (€) (D) (E)
1o 1+1In5 In 4 In3 In 2
2




Q20.
[(tan’x + 1)dx =

(A) (B) ©) (D)
cotx + C —cotx +c¢ tanx + C —tanx + C
Q21.
4 _ 3e* _
f(S 7 )d B
(A) (B) (©) (D)
x?s_%ex+c x> —le* +C x> —2e*+C %5—7ex+C
Q22.
) . 5 5 k(x)
If k is an even function and ["_k(x)dx = 10, then [ ——dx =
(A) (B) (©) (D)
3 1 5 10
Q23.
% 5x3+tanx .
f—g x2+4 dx =
(A) (B) (©) (D)
SeCZ(g) n +1 tan1 0
3 T
Q24.
f02|1 — x|dx =
(A) (B) (©) (D) (E)
6 4 3 2 1
a2 o Jpanlladle cuad o cang 524 a8, JIgadl I S5 58 25 a8 J el
Q25.
f02|1 — x|dx =
(A) (B) (©) (D) (E)
6 4 3 2 1
Q26.
[ 4x sin(x?) dx =
(A) (B) (©) (D)
-2 COS(XZ) +C 2 COS(XZ) +C 2 cos(x?)+cC 2 cos(x?)+C
4 4




Q27.
J-e4 4dx
e xVinx

(A) (B) (©) (D)
8 6 10 4

s 2 o Jpaalladle cuad o iy 527 8, JIgadl I S5 58 28 a8 J) gl

Q28.
fe‘* 4dx
e xV/lnx
(A) (B) (®) (D)
8 6 10 4
Q29.
[5*+50) . (6x + 15) - In5 dx =
(A) (B) ©) (D) (E)
3.5(%+5%) 4 ¢ 5(x%+5%) 4 ¢ 15(*+5x) 4 ¢ 5(x%+5x+1) 5(x2+3x+1)
(x2+5x+1)In5 m
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Q30.
[5*+50) . (6x + 15) - In5 dx =
(A) (B) ©) (D) (E)
3.5(%+5%) 4 ¢ 5(x%+5%) 4 ¢ 15(*+5x) 4 ¢ 5(x%+5x+1) 5(x%+3x+1)
(x2+5x+1)In5 m




